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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

c˜O◊Tˆc˜Áa ( History ) 
ac˜ÁÃ^Eıı YÁPˆy‘]-3 (T ˆTˆ›Ã^ Yy) 

Subsidiary-3 (Paper-III) : Modern Europe and Making 
of the Modern World (1789 – 1956) 

NEW SYLLABUS 
(From July 2010 Enrolment Session) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 20 × 2 = 40 

 (Eı) Â]ªRÙOÁÃ[˝◊XFTˆ‹óˆ Eı›\ˆÁ„[˝ c Õ=„Ã[˝Á„Y AEı◊ªRÙO Ã[˝l˘S`›_ 

[˝Ó[˝ÿöˆÁ EıÁ„Ã^] EıÃ[˝„Tˆ ÊªJÙ„Ã^◊ªK˜_ ? 

 (F) LÁ]ÔÁ◊XÃ[˝ BEıÓ aÁW˝„X ◊[˝a]Á„EÔıÃ[˝ \…ˆ◊]EıÁÃ[˝ ]…_ÓÁÃ^X 

EıÃ[˝”X* 

 (G) c Õ=„Ã[˝Á„YÃ[˝ ◊`îÁÃ^X Y“◊y‘Ã^Á EıTˆFÁ◊X c Õe_ÓÁ„â¯Ã[˝ 

ÂU„Eı Y UEı ◊ªK˜_ ? 

 (H) LÁÃ[˝ ◊•Tˆ›Ã^ %Á„_EıLÁâ¯Á„Ã[ Ã̋[˝ aeïıÁÃ[˝m◊_ ◊[˝‰`¿bS 

EıÃ[˝”X* TgˆÁÃ[˝ aeïıÁ„Ã[ Ã̋[˝ TˆÁdY Ô̂ Eı› ◊ªK˜_ ? 

 (I¯) [˝íıÁX LÁTˆ›Ã^TˆÁ[˝Á„VÃ[˝ ◊[˝EıÁ` Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 

[˝Á◊_Ô„XÃ[˝ ªJ«Ù◊N˛ (1878) ◊Eı [˝íıÁX LÁ◊Tˆm◊_Ã[˝ 

LÁTˆ›Ã^TˆÁ[˝ÁV› %Á`Á %ÁEıÁÖÁ Y…Ã[˝S EıÃ[˝„Tˆ ÂY„Ã[˝◊ªK˜_ ? 

 (ªJÙ) %ÁY◊X ◊Eı ]„X Eı„Ã[˝X \ˆÁaÔÁc˜O a◊μ˘ "%Á„Ã[˝Á◊YTˆ a◊μ˘' 

◊ªK˜_ ? 

2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

 (Eı) ZıÃ[˝Á◊a ◊[˝Y¿„[˝Ã[˝ %ÁV`Ô Y“aÁ„Ã[˝ ÂX„YÁ◊_Ã^X EıTˆV…Ã[˝ 

aZı_ c˜„Ã^◊ªK˜„_X ? 

 (F) Z–ıÁ„≥a 1830-AÃ[˝ L«_Ác Õ ◊[˝Y¿[˝ EıTˆFÁ◊X =VÁÃ[˝ÍX◊TˆEı 

`Áa„XÃ[˝ Y“[˝T ¤̂X Eı„Ã[˝◊ªK˜_ ? 

 (G) T ˆTˆ›Ã^ ÂX„YÁ◊_Ã^„XÃ[˝ %\ˆÓ‹ôˆÃ[˝›S aeïıÁÃ[˝a]…c˜ 

Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* %ÁY◊X ◊Eı ]„X Eı„Ã[˝X Â^ Z–ıÁ„≥a 

◊•Tˆ›Ã^ aÁ∂ÉˆÁLÓ AEı◊ªRÙO V«[˝Ô_ C %a+…SÔ ÈÿëˆÃ[˝Tˆ‹óˆ 

◊ªK˜_ ? 
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 (H) 1921-22 aÁ„_Ã[˝ CÃ^Á◊`eªRÙOX a„∂ˆ]_„XÃ[˝ YªRÙO\…ˆ◊] 

[˝ÓÁFÓÁ EıÃ[˝”X* 

 (I¯) %Á‹ôˆL¤Á◊TˆEı a+„EÔıÃ[˝ =YÃ[˝ %Á◊UÔEı ]c˜Á]≥VÁÃ[˝ Y“\ˆÁ[˝ 

[˝ÓÁFÓÁ EıÃ[˝”X ? 

 (ªJÙ) ÂTˆÁbS X›◊TˆÃ[˝ =da Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* Ac˜O X›◊Tˆ ◊Eı 

^UÁUÔ ◊ªK˜_ ? 

 (ªK˜) ÂEıX A[˝e Eı›\ˆÁ„[˝ Â&„XÃ[˝ G c˜^«à˘ AEı◊ªRÙO 

%Á‹ôˆL¤Á◊TˆEı ]ÁyÁ ÂY„Ã^◊ªK˜_ ? 

 (L) YÓÁ„_ÿôˆÁc ÕX a]aÓÁÃ[˝ =da ◊XW Ô̋ÁÃ[˝S EıÃ[˝”X* PˆÁ≥QˆÁ 

_QÕˆÁc˜O Eı›\ˆÁ„[˝ A◊ªRÙO„Eı c Õμ˘X ^«◊G„Ã^◊ªK˜_ ? 

 (Mı) %Á◊Z–ıEıÁÃ^ LÁTˆ›Ã^TˆÁ[˝Á„VÃ[˝ =„XΩb C ◊[˝EıÁ` %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

3* ae◊l˘ä ªRÙO›EıÁ ◊_F«X (Â^ ÂEıÁX ªJÙÁÃ[˝◊ªRÙO) f 6 × 4 = 24 

 (Eı) [˝Ó◊N˛ C XÁG◊Ã[˝„EıÃ[˝ %◊W˝EıÁ„Ã[˝Ã[˝ ÂHÁbSÁYy 

 (F) Â&X›Ã^ l˘Tˆ 

 (G) c ÕÃ^e c˜OTˆÁ◊_ 

 (H) ◊y‘◊]Ã^ÁÃ[˝ ^«à˘ 

 (I¯) 1905 aÁ„_Ã[˝ Ã[˝”` ◊[˝Y¿[˝ 

 (ªJÙ) Â_ÁEıÁ„SÔÁ ªJ«Ù◊N˛ 

 (ªK˜) _e ]ÁªJÙ¤ 

 (L) Â_„[˝XÿÉ̂] 

 (Mı) CÃ^ÁÃ[˝a ªJ«Ù◊N˛ 

 (A’) Æœ«Ù]ÓÁX QˆEı◊ÆœÙX 

 (ªRÙO) VÒÁTˆÁTˆ 

 (Pˆ) T ˆTˆ›Ã^ ◊[˝„`üÃ[˝ =xÁX* 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) How did the Metternich system want to 

establish a conservative system in Europe ? 

 b) Assess the role of Bismarck in the 

unification of Germany. 

 c) How far was the industrialization process in 

Continental Europe differ from that in 

England ? 

 d) Make a critical assessment of the reforms of 

Tsar Alexander II. What were the 

significance of his reforms ? 

 e) Trace the development of Balkan 

nationalism. Did the treaty of Berlin (1878) 

satisfy national aspirations of the Balkan 

nations ? 

 f) Do you think that the treaty of Versailles 

was a ‘dictated treaty’ ? 

2. Answer any three questions : 12 × 3 = 36 

 a) How far was Napoleon successful in the 

spread of the ideology of French 

Revolution ? 

 b) How far did the July Revolution of 1830 

create a liberal regime in France ? 

 c) Discuss the internal reforms of      

Napoleon III. Do you think that the Second 

Empire in France represented a weak and 

incomplete dictatorship ? 

 d) Explain the background of the Washington 

Conference (1921 – 1922). 

 e) Analyse the impact of the Great Depression 

on international relations. 

 f) Explain the roots of the policy of 

appeasement. Was the appeasement policy 

justified ? 

 g) Why and how the Spanish Civil War 

assumed an international character ? 

 h) Trace the origin of the Palestine problem. 

How did the Cold War politics aggravate the 

problem ? 

 i) Discuss the origin and growth of 

nationalism in Africa. 
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3. Write short notes on any four  of the following :  

   6 × 4 = 24 

 a) Declaration of Rights of Man and Citizen 

 b) Spanish ulcer 

 c) Young Italy 

 d) Crimean War 

 e) Russian Revolution of 1905 

 f) Locarno Pact 

 g) Long March 

 h) Lebensraum 

 i) Warsaw Pact 

 j) Truman Doctrine 

 k) Detente 

 l) Emergence of Third World. 

    


